
Shortcut information
Drag-speed
Use this information to answer (b)(iii):
   D = 10v2

Pressure-volume
Use this information to answer (d)(iv):
   

12P V=

Pivot-mass
Use this information to answer (f):
   r3 = 0.1 m2 + 30
   r2 = 30.0
Note: the above use mass in grams and distance  in cm.

Solutions
Drag-speed
Use this information to answer (b)(iii):
   D = 10v2

Solution for (b)(iii):
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Pressure-volume
Use this information to answer (d)(iv):
   

12P V=

Solution for (d)(iv):
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Pivot-mass
Use this information to answer (f):
   r3 = 0.1 m2 + 30
   r2 = 30.0
Note: the above use mass in grams and distance  in cm.
Solution for (f):
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